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Aufgabe 1

Berechne den Prozentsatz.

a) % von 70=56 b) % von 90=54 c) % von 75=42
d) % von 100=55 e) % von 60=60 f) % von 88=66
g) % von 100=24 h) % von 50=30 i) % von 22=11
j) % von 40=24

Aufgabe 2

Berechne den Prozentsatz.

a) % von 79=79 b) % von 74=37 c) % von 73=73
d) % von 60=51 e) % von 90=81 f) % von 45=27
g) % von 62=31 h) % von 86=86 i) % von 90=63
j) % von 88=66

Aufgabe 3

Berechne den Prozentsatz.

a) % von 656=32,8 b) % von 352=105,6 c) % von 311,8=155,9
d) % von 127,5=102 e) % von 320=272 f) % von 607,6=151,9
g) % von 537,7=537,7 h) % von 353=317,7 i) % von 342=68,4
j) % von 652=358,6

Aufgabe 4

Berechne den Prozentsatz.

a) % von 228=171 b) % von 120=24 c) % von 220=220
d) % von 240=12 e) % von 524=131 f) % von 600=270
g) % von 984=492 h) % von 204=102 i) % von 220=187
j) % von 715=429

Viel Erfolg!
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